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(Afeo--2c  B)fw=-2¢-3  (O)f(o=-2  (D)x=3
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(A) | X 1 2 3 4 (B) |x 1 2 4
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(A)3x-2>7 (B)2x+7<x (C) 4(x-5)—5x <—7x (D)5(x—4) > x+1
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N A—{E A= ?
(A) (x+43) < 2(x+13) (B) (x+43) > 2(x+13)

(C) (x+43) <2(x+13) (D) (x+43) > 2(x+13)
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9. NFARE R AFH 2 <ax+1<1HEEAYEIR 7

(A) (B)
4

-2 -1 0

(C) (D)
—+—t—+b

0 1 2 -2 -1 0 1

o —Omm
V/

10. R EAHERI=H0A ~ 8 ~ ¢ HH/AEEAITHINEE 8 ~ sx+2 ~ 20 = (&8 - H o1 B BAEEEAT AL
ISR x Ry (A TEFEE > Allx=?

(A)1 (B) 2 (C)3 (D) 4

0

11. 5% f()=2x+3 » g(x)=3x+6 > H f(6)=g(a) * Hla ZHIEZE%/D
(AJO (B)1 (C)-1 (D)3
12. BRI EL y = f (0 /2 (FRaEE (-3.6) HYZKF4R - HIl f @ AVEIEZ %) ?

(A) -6 (B) 2 (C)3 (D) 6

13. CLRIAR T pRE y = £ (x) = ax+b EY B 2 708 (-2, -3) B2 (~1,0) WA 35 » SRS A IIRCIUR 58 EA# ?

(A) f(-10) > f(-5) (B) f(-6) > f (6) (C)f>0 (D) f(5)> f@0)
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(A) 60 (B)65  (B)70 (D) 75
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(A) 6 (B) -5 (C)7 (D) -6

16. R 2<x<3 > Hy=-2x+3 > KtHy HYHEH -

(A) 7<y<-3 (B) 7>y>-3 (C) 7<y<-3 (D) 7>y>-3
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(A)8  (B)7 (C) 6 (D) 5

19. /NEIZRAVHIE R —(E 5775 - (8 A A BLFTE 4eE 2 F R 2 B % - CAIE=TEE
{E R 9 (B AR - S 4EE 8 840 7T 5 55— A 6 (B A RS 4EE SR 660 T - (R x
TR A > (0 RREBTATEIAEEEH - B EZZ T ?
(A) feo=11x  (B) f(x=10x+60  (C) f()=10x-60 (D) f(x)=60x+300
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(A) 150 (B) 180 (C) 225 (D) 250
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(A) f(E5)=25 (B) f@7n)<f(63 (C) f(9)=f(90) (D) DL EEFIE -
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(A) 3<x<12 (B) x>3 (C) x>3>12 (D) x=>12
= f (2019) — f (609)
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(A) -12345 (B) 67890 (C) 55555 (D) 1

26. x=3 ~ y=2.2 NIYF—{i — T —RITHE AV ?
(A) x+y=6  (B) 3x-2y=1 (C) 2x-3y=0 (D) 2x+3y=13
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(A) 4 (B) 5 (C) 9 (D) O
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(A) @y (B) (-13) (C) (-39 (D) 4.-3)
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(A) x=-1>y=-1 (B) x=-1>y=1 (C) x=1> y=1 (D) x=1->y=-1
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